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__3 (English Version)

Time : 3 Hours Max. Marks : 10
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Note : Read the following instructions carefully. ﬁ?‘%
(i)  Answer all the questions as per the choice specified. Draw suitable diagrams wherever

necessary.

(i) Questions from serial nos. 1 to 5 in Section - A are of Long Answer Type. Each question carries
10 marks. Any three questions may be answered out of five given questions. Every answer
may be limited to 40 lines.

(iii) Questions from serial nos. 6 to 17 in Section - B are of Short Answer Type. Each question
carries 5 marks. Any eight questions may be answered out of twelve given questions. Every
answer may be limited to 20 #aes.

(iv) Questions from serial nos. 1 80 37 in Section - C are of very Short Answer Type. Each question
carries 2 marks. Any fifteen guestions may be answered out of twenty given questions. Every

answer may be limited to 5 iBes,

SECTION - A

Note : Answer any three out gfthe following five questions. 3x10=30
1. India is a developing countar”yﬁ'—:-§ discuss. —
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2. What are the causes for poverty in India ?

3. What are the causes for low productivity in agriculture in India ? Suggest some
measures to improve it.

4. Critically evaluate the 1991 new industrial policy resolution of India.

5. Explain the causes of regional imbalances in India.
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Note : Answer any eight out &=the following twelve questions. 8x5=40
6. _

7. What are the different types ©f unemployment ?

8. Explain the features of Ind;ﬁ agriculture.
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Note : Write short notes on any fifteen
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Defects in the Agricultural marketing ir: India.
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Objectives of National Manufacturin
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What are the advantages of Roadwa:

|

||||I|

]l'"l‘

Explain at least three failures of Plams=
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Objectives of WTO.

Measures for the conservation of forests.

Types of natural resources with suitable examples.
Population Characteristics of Andhra Pradesh.

Calculate the standard deviation of the following values :
5, 10, 25, 30, 50.
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Human Capital

Human Development Index (HDI)
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Sarva Siksha Abhiyan E.%:g
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Population Explosion
TRYSEM

Kisan Credit Card
Organic farming
Zamindari System
Industrial Estates
LIC

Service Sector

What is Liberalization ?
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of the following twenty questions. 15x2=30
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32.

33.

34.

35.

36.

37.
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Sustainable Development
Swachh Bharat Abhiyan
Environment
Biodiversity

Seaports in A.P.

Project Tiger

Range

Correlation

EEE

=

PO
=7 -
[yl

Fotnd

§

lIllll

Tl

ElyaEt

b

|

I1

250







